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101|R#A7 L 244 82 162| Kg |&)I 1,512 864| &/l 2,700 540
102|357 L 1,954 1,954 Kg BIE 1,566 665
111|&EEF £ 247 247|  Kg K5 - Al 1,728 432
113|RAV S 17 6 11| Kg |@& 1,728 270|785 2,700 2,160
114|B5EFE 208 208| Kg BRE - &E 2,700 216
117[14 % 3 3| Ke fE 3,780
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134[#= 282 200 82| Kg |k% - =H 2,700 1,200 £ 4,860 1,620
137|&5E3.< 225 152 73| Kg |BER 4,860 1,944| B8R 7,287 3,888
138|#ik £ = 19 19| Kg FfE 1,296 1,188
140(5 I 30 30| Kg FE 38,880 12,960
147|EZ O 94 94| Kg BRE - il 7,000 2,700
158|EIEA A LS 225 225 Kg =40 2,106 540
201{Lvb L 750 750 Kg T - R 486 108
203|/hd L 95 95| Kg =5 324 198
206| = 1F 895 895| Kg =5 821 330
208| Mo % 50 50| Kg R 756
210{1F AL 40 40| Kg RI5 2,700
212|&5E.3 Y 847 847| Kg BiE 1,998 972
251|< %<3 209 209| Kg FIE 7,344 3,888
254|EhRECH 508 32 476 Kg |=i& 1,944 =il 2,268 756
303|1A 220 49 49| Kg s 864 531
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305[£Aah 0 12 12| Kg . 1,620
315|7:b5 6 5 5 Kg REA 1,259
3191 h o 97 97 Kg AR L 2,376 1,523
3321 WA =EF 121 121 Kg i 2,376 2,052
351|4£ 8 5 5] Kg e 3,780
3541 <Y 46 46| Kg FE 1,728 1,134
3/5|HEY 165 30 135 Kg [ZA 648 A - EE 1,728 600
356|L L& 55 55 Kg SR 1,188 810
3577~ E 136 6 130 Kg [|4& 1,728 . 3,888 1,728
358| KE 10 5 5| Kg [EA 2,376 A0 1,944
362(m & 629 629 Kg IN= 3,780 360
4025 5 &E 10 10| Kg [ 4,644 4,536
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BO4|AHED A L 25 25| Kg =] 1,280
512| A A L 35 35| Kg b 1,400 1,188
523|AEAAT 2 O 258 258| Kg Bh 4,680 944
5h4|E X BA AR 50 50[ Kg b 900
558| 68 68| Kg b 1,296 756
560|487 2 508 508| Kg =] 4,150 700
576|4R & 1F 183 183| Kg B - A 1,836 980
581|4H T Y & 1,820 1,820 Kg =] 713 551
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70110 BA 300 300 Kg FJE 1,566 972
709|Lb LALF 30 301 Kg TFE 300
710(2 2 AT 32 32| Kg =y 1,375 1,260
BlEFAI L 417 370 471 Kg |B1R 711 619| = 1,145 685
755|FH&» C 59 591 Kg Ko 524
56| £ T 29 291 Kg Ko 1,080
759(.5BE£ E 12 12] Kg =51 1,260
7611 b BHAEL 6 6 Kg AL 1,980
76713725 W\ H 255 255  Kg FJE 1,620 486
801 [IEAL = 1S 156 156 Kg ¥ -mA 1,728 1,458
802|1 x| 50 50| Kg gl 1,512 1,242
8051 1E 891 891 Kg B =2 1,058 702
810|FAKF 45 45  Kg bF 2,638 623
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